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Problem 1: Integrate the following:

f(logx)2 dx

By LIATE, we choose u = (log x)? and dv = 1, this gives box

(log x)? x

2logx

X

which then gives. ..

21
J‘(logx)2 dx = x(log x)? —J 08X -x dx
x

= x(logx)? — Zf logx dx

= x(logx)? —2(xlogx —x)+C

fx3e2x dx

Problem 2: Integrate the following:

Using Tabular Integration:

So that we have

1
x3e?* dx = —x3e® — Exzezx + §xezx — Eer +C
2 4 4 8

62x

=?(4x3—6x2+6x—3)+C

Quiz 2: Integration by Parts
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Problem 3: Integrate the following:

f e sin(2x) dx

u dv
sin(2x) \ex
2cos(2x)\__ >e*
—4 sin(ZX)E e

Then the table gives

-
e*sin(2x) dx = e* sin(2x) — 2e* cos(2x) — 4J e¥sin(2x) dx

-
SJ e sin(2x) dx = e sin(2x) — 2¢2* cos(2x) + C

[ e* sin(2x) — 2e* cos(2x) N

e*sin(2x) dx = c C

( X
eXsin(2x) dx = %( sin(2x)—2 cos(2x)) +C




